HALF YEARLY EXAMINATION : 2019-20
Class : XII FZB/80

Time: 3.00 hrs Sub : ECONOMICS M.M. : 80

NOTE - 1- 10 & 18 -27 CARRY 1 MARK, Q .N 11-12AND 28-29 CARRY
THREE MARKS, 13-15 AND 30-32 CARRY 4 MARKS, 16-17 AND33-34 CARY 6

MARKS.
PART A - MACRO ECONOMICS

Q.1 THEORY OF EMPLOYMENT IS STUDIED UNDER ... ECONOMIES.
...................... H IR & RRuUed F 3uags fhar Sar & |
Q,2 MONEY IS EVOLVED IN ORDER TO TO REMOVE THE DRAWBACKS

Q,3 SOLE ATHORITY OF NOTE ISSUING IS WITH ... :
Q4 MPC= ..

Q,5 IN A SITUATION OF DEFICIENT DEMAND......omrmen.

Q.6 GROSS INVESTMENT = NET INVESTMENT # oo, .
F A = e A it
Q,7 OPERATING SURPLUS INCLUDES

Q.8 GDPMP= NNPFC
Q.9 COSTODIAN OF FOREIGN EXCHANGE IS

Q.10 IN INDIA CRR IS FIXED BY THE ...
HRS & F9C IR Ao 1 FAUROT F@ar § oo

Q 11. DEFINE INERMEDIATE GOODS.
Agadl aeq @ afteme S |

Q.12 DEFINE AD AND AS.
AT AR 3 FHET i A aRemr S5 |
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Q.13

Q.16

Q.17

i

HOW DOES CENTRAL BANK CONTROLL MONEY SUPPKY IN TH
MARKET THROUGH OPEN MARKET OPERAION

G AR Rt gart R A6 6w avE ga o @ e @ @
EXPLAIN RELATIONSHIP BETWEEN MPC AND MPS

e 3usr ygfa AR el aua vefa & F e

COPLETE THE FOLLOWING TABLE :5& @Rolt & @1 &y

INCOME SAVING(s=d) | MPC(dATd | MPS(Haia

kiip) 3qsiter 39HRT §99)
)

0 -12 - .

20 -6 . -

40 0 = -

60 6 g Ty

IF NATIONAL INCOME IS Rs 50 CRORE AND SAVING Rs.5 CRORE
FIND OUT APC. WHEN INCOME RISES TO

Rs. 60 CRORE AND SAVING TO Rs. 9 CRORE ,WHAT WILL BE THE
APC AND MPS

I TSI 37T FYAT 9o FAT § 9ud 4 FUS § ar @, 3. 9. A 3w = 59
3T FAT €0 FAF gl AT § 3R 997 F9AT R WS @Y A ¥ | AIT aw
w3a

7 g |
CALCULAT NATIONAL INCOME.Ts8rr 3/ & a1t & |
RESOURCES . Rs.IN
CRORES
NFIA ; -50
NIT 800
NET CURRENT TRANSFER FROM REST OF THE WORD 100
NET IMPORS 200
PRIVATE FINAL CONSUMPTION EXPENDITURE 5000
GOVT. FINAL CONSUMPTION EXPENDITURE 3000
GROSS DOMESTIC CAPITAL FORMATION 1000
CFC 150

B T T ee—
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Q.18

Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

Q.27

CHANGE IN STOCK -50

MISED INCOME 4000

SCHOLERSHIP TO STUDENTS 80

PART B  (INDIAN ECONOMY)
WHICH OF THESE INDUSRTIES WAS BADLY AFFECTED DURING
COLONIAL RULE.
A), CMENT, B) . HANDICRAFT, C) PAPER, D) STEEL AND IRON .
Prrfaf@a sezett F ¥ ST ggaa & R Hla &1 ST Fe e

yefad U |

3 ) deie &) gEaEen, §) FE, §) ST 3R T 3T
JUTE INDUSTRIES WERE LOCATED IN:-

A) GUJRAT,B) BENGAL,C) RAJSTHAN,D) MAHARASHTRA.

3¢ 3ezhT feua ¥ |

3 ) IERME, @) A F ACRAA & ) FERK .

CHAIRMAN OF INDIA™'S FIRST FIVE YEAR PLAN WAS ...
R & SUH Guadiy AT F HETET T e

NITI AYOG WAS STABLISHED IN YEAR.....u

THE BRITISH INRODUCED IN INDIA .. IN 1850.

WHERE IS HEAD QUARTE OF IMF.
HeeRTSET FET FIY T JEATT Fel & ?
MGNREGA IS RELATED WITH OPPARTUNITY OF.....cum

WORD TRADE ORGENISATION WAS STABLISHED IN........

e —
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Q.28 WHAT WAS THE SOLE PURPOSE OF THE BRITISH RULE IN INDIA?
fSfeer TR & MR & SR & T 3EAeT A7
Q.29 EXPLAIN THE RESIAON OF INFANTS MORTALITY IN INDIA DURING
BRITISH GOVT.
fafeer @R & emer Frar F R Geg & & FROT Hr g B |
Q.30 EXPLAIN FOUR CASES OF BACKWARDNESS OF AGRICULTURE IN
INDIA DURING COLONAIL PERIOD.
HfAaRs Fjo # oRa & FW F Nodua & 1% a) FRot 6 e 5t
Q.31 WHY IS THE NEW ECONOMIC POLICY ALSO CALLED ECONOMIC
REFORMS?
S aﬁm fAfa @ anfde gur =t @r smar ¢ 2
Q.32 WHY WERE REMFORMS INTRODUCED IN INDIA?
HRA & 3T Furt & F2F smaegewar o ?
Q.33 EXPLAIN THE GOALS OF PLANNING IN INDIA.
HRA H FISTT & &g &I saqrear ¥ .
Q 34 WHAT DO YOU MEAN BY GREEN REVOLUTION ? WHAT IS EMPACT
ON THE DEVELOPMENT OF INDIAN ECONOMY.

e Hifa & a1 gaga o ? 9RAT IfeuaRr W sEE wewat A carear wt |
3 .3 .9 (Hara susir gRied) | «otl3a, (e aaa aied )

e e ——————————————————————————————
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